KoHTponbHas pabora Ne: 6 (6
Knacc)

YMHO>)XeHue n geneHne paunoHasibHbIX
yuncen BapunaHT 1

1 BbINnONIHNTE YMHOXKEHUeE:

1)-5,2 L3
1.4

2)-1 12 13

3) - 1,8 ( _215)'

2 BbinosiHUTe genexHue:

1)4,5:(-0,9);
.3
4
2)-1 3., );
%
5.52.
3)-3 9'%3

3 HanguTte 3Ha4YeHUe BblparkeHns:

1,96:(-0,14) + 63 ~ (-0,2).

KoHTponbHas pabora N 6 (6
Knacc)

YMHO>XeHue u aenieHne paunoHasibHbIX
Yyucen BapunaHT 1

1 BbINnONHNTE YMHOXKEHuUe:

1)-5,2 L3
1.4

2)-1 12 13

3) - 1,8 ( _215)-

2 BbinosiHUTe penexHune:

1)4,5:(-0,9);
.3
4
2)-1 3., );
g
5.52.
3)-3 9'%3

3 HangunTte 3HaYeHUe BblparkeHns:

1,96:(-0,14) + 63 ~ (-0,2).

4 PewwunTe ypaBHeEHME: -02x+35=- 4 PelwwunTe ypaBHeHMeE: -0,2x+ 3,5=-2,3.
2,3.
5 HanguTte HeMm3BEeCTHbIN Y1eH NponopLunn:

5 HanpuTte HenM3BeCTHbIN Y1eH Nponopunun: 56 —14

—5,6 -1,4 X = 03"

X = 03"

KoHTponbHas pabora Ne 6 (6 KoHTponbHas pabora Ne 6 (6
Knacc) Ksacc)
YMHOXXeHue n gesieHne paumoHasibHbIX YMHO)XeHue n geneHne paumoHasibHbIX
yucen BapuaHT 2 yucen BapunaHT 2

1 BbIMOJIHNTE YMHOXEHUNe:

1) 6,4 (=58);

1 BbIMO/IHNTE YMHOXKEHNe:

1) 6,4 (=58);




3)-6,8 (-25).

2 BbinonHuTe peneHwue:
1)-6,4:(-1,6);

3 HanguTe 3Ha4YeHMe Bblpa>keHuns:
( _ 0'4 ) : 2'5 (1,075—4,2)

4 PewwnTe ypaBHeHMe: -1,4x-1,8 =

0,16.

5 Hanpgute HeM3BeCTHbIN YJIeH NpPONopLUN:
~48 16
y = -3

3)-6,8 (-25).

2 BbinonHuTe peneHne:
1)-6,4:(-1,6);

3 HanguTe 3Ha4yeHMe Bblpa>keHuns:
( _ 0’4 ) : 2,5 (1,075—4,2)

4 PewwnTe ypaBHeHMe: -1,4x-1,8 = 0,16.

5 HanmpuTe HeM3BeCTHbIN Y1eH NponopLnn:
—4.,8 —1,6
y = -3




